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LaBr3 energy calibration with Cel139
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Nal coincidence with Det 1 (1 inch,

5°)
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Nal coincidence with Det 2 (1 inch, 15°)
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Nal coincidence with Det 3 (1 inch, 25°)
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Nal coincidence with Det 4 (1 inch, 40°)

Nal / Detl time difference
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Nal coincidence with Det 1 (1 inch, 5°)

Nal / Detl time difference
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Nal coincidence with Det 2 (1 inch, 15°)

Nal / Detl time difference Nal energy vs LaBr3 energy
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Nal coincidence with Det 3 (1 inch, 25°)

Nal / Detl time difference
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Nal coincidence with Det 4 (1 inch, 40°)

Nal / Detl time difference
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